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INSTRUCTIONS TO CANDIDATES:

fum—y

This question paper consists of FOUR questions. Answer ANY THREE questions,

2. All diagrams are included in the ANNEXURE.
3. Number your answers exactly as the questions are numbered. e
_ 4. Write neatly and LE G e e
5. This question paper consists of 8 pages with an annexure of 10 pages.
SECTION A - ATMOSPHERE AND GEOMORPHOLOGY
QUESTION 1:

1.1 Refer to FIGURE 1.1 in the annexure and indicate whether the statements below refers to rainfall
types A, B or C.

1.1.1 Storms, lightening and hail is common.
1.1.2 Made up of cold and warm masses of air.
1.1.3 Common in Drakensberg mountains.
1.1.4 Beneficial to farmers on the highveld.
1.1.5 Represents orographic or relief rainfal].

1.1.6 Occurs in Cape Town during winter.
1.1.7 This rainfall can be destructive.
1.1.8 Has a windward and shadow side., [8]

1.2 Match the Statements in Column A with the correct terms in Column B. Wiite dow.n 1.2.1 to 1.2.7 and
the letter next to each from Column B.

COLUMN A COLUMN B
1.2.1 The outer-most layer of the earth. A. Mantle A
1.2.2 A slight bend on the earth’s crust. B. Inner-Core |

1.2.3 Movement of plates due to convection currents in

C. Compressive force °
earth’s mantle, P

1.2.4 Solid in nature consisting of nickel and iron. D. Sial

1.2.5 Refers to the collision of plates. E. Warping

1.2.6 Plastic in nature called peridotite. F. Plate Tectonics

1.2.7 This term refers to the oceanic crust. G. Crust YV

F Sima ]




1.3 Study FIGURE 1.3 in the annexure showine the structure of the atmosphere and answer the

«

guestions.

1.3.1 Define the term atmosphere.

1.3.2 Name layers B and D.

1.3.3 What gas makes up most of the atmosphere?

1.3.4 Identify the lapse rate in layer A and D.

1.3.5 Name the upper-limit of the atmosphere at C.

1.3.6 Why do aircraft choose to fly in the lower part of layer B? Give 2 reasons.

1.3.7 Explain the importance of layer A to humans.

1.4 Study the extract FIGURE 1.4 in the annexure and answer the questions.

1.4.1 Why is the ozone layer important to humans?
1.4.2 In which layer is the ozone found?

1.4.3 State two ways in which the thinning of the ozone layer is affecting life on earth.

1.4.4 Write a paragraph (about 8 lines) on strategies we could use to reduce ozone depletion.

1.5 Study the cartoon in FIGURE 1.5 in the annexure and answer the questions.

1.5.1 What term is used to describe the movement of earth depicted in the source?

1.5.2 Name the scientist that postulated this theory whereby the continents move.

1.5.3 State the name given to the giant landmass.

1.5.4 Give three pieces of evidence that supports this theory where the landmass moves.

1.6 Studv FIGURE 1.6 on volcanoes in the annexure and answer the questions.

1.6.1 Identify the type of volcano.

1.6.2 Give a reason for your above answer.

1.6.3 Differentiate between the terms lava and magma.

1.6.4 Identify the extrusive volcanic features labelled A, B and C.
1.6.5 Differentiate between dormant volcanoes and active volcanoes.

1.6.6 Discuss three importance of volcanoes to human.
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. QUESTION 2:
lm@éﬁm&m&mm&% frdnt EHe mM%'e@(%v ith the statements provided.

Conduc\%)n, DALR, WALR, Insolatie{h, Dew point teMyperature, Terrestriaﬁ\xqgiiation, H"m{idity,
Precipitahon, Drou‘ghts, Sublimation

2.1.1 When the earth gives off heat into the atmosphere.
2.1.2 Incoming radiation from the sun.

~ 2.1.3 Condensation at (° celcius.,

2.1.4 The rate of heating or cooling is 1°C per 100m.
2.1.5 An extended period of dry weather with no rainfall,
2.1.6 The amount of water vapour in the air.

2.1.7 Refers to all forms of water.

2.1.8 Transfer of heat by contact. [8]

2.2 Write down whether the statements below apply to sedimentary, methamorphic or igneous rocks.
2.2.1 Consists of fossils.

2.2.2 Used in the making of tombstones.
2.2.3 Originates from volcanic activity.
2.2.4 Basalt weathers to form fertile soil.
2.2.5 The rocks have beautifu] colours.
2.2.6 These rocks have layers of sediments.

2.2.7 Marble is used for monuments. [7]

2.3 Study the synoptic map in FIGURE 2.3 in the annexure and answer the questions.

2.3.1 Identify the type of isolines drawn on the map. (1
2.3.2 What is the atmospheric pressure at A. (1)
2.3.3 Describe the weather at Upington under the following headings:

2.3.3.1 Air temperature

2.3.3.2 Dew point temperature

2.3.3.3 Wind speed

2.3.3.4 Cloud cover

2.3.3.5 Wind direction (5)
2.3.4 Name the fronts labelled:

2341A

23.42B 2)




2.3.5 Does the map represents winter or summer conditions? Give a reason. ' (3)

2.3.6 Is X a low pressure or high pressure system? Give a reason for your answer. ' (3)

[15]

2.4 Study the climate graphs and sketch map of Durban and Cape Town in FIGURE 2.4 in the annexure
and answer the questions.

2.4.1 Refer to the graphs of Durban and Cape Town. During which season is the highest rainfall recorded in

each city. (4)
2.4.2 Does Durban have a continental or maritime climate? Give a reason for your answer. (4)
2.4.3 Calculate the temperature range between Durban and Port Nolloth. @
2.4.4 Identify the ocean current that flows past Cape Town. (2)

2.4.5 List 3 other factors that affect horizontal variation of temperature besides the one shown on the map.  (3)

[15]
2.5 Read the case study on earthquakes in FIGURE 2.5 in the annexure and answer the questions.
2.5.1 Define the following terms: |
2.5.1.1 Epicentre
2.5.1.2 Seismologist 4)
2.5.2 Explain briefly the cause of earthquakes. )
2.5.3 How would you interpret the earthquake measurement of 7.0 on the Richter scale? (1)
2.5.4 Write a paragraph (about 8 lines) on the effects of earthquakes, (8)
[15]

2.6 Refer to FIGURE 2.6 in the annexure which shows landforms associated with faulting and answer the
questions.

2.6.1 Define the term faulting. 2)
2.6.2 Identify features A and B. 2
2.6.3 EX};lain how feature A is formed. | 3)
2.6.4 State 2 ways in which feature A is a hindrance (problem) to human. ‘ “4)
~2.6.5 Discuss two ways how feature B is a benefit to people. 4)
[15]

SUB-TOTAL: 75



SECTION B: POPULATION AND WATER RESOURCES
—Bownloaded-from Stanmarephysics.com

3.1 Give one word / term for each of the following description by choosing a word / term from the list

below. Write only the word / term next to the question number (3.1.1 - 3.1.8)

population distribution, population density, ceqyés, literacy V{e, “brain drain”, life eyf)ectancy, birtlywe,

infant mortality, deat}y@e

3.1.1 The number of people that live- per-square kilometre:

3.1.2 The percentage of people that can read and write‘/ ‘

3.1.3 The loss of professional people from a country.

3.1.4 Shows the spread of people over an areas”

3.1.5 The number of children that die per 1000 people of the populatieé
3.1.6 The average number of years that a person is expected to li\Le./
3.1.7 A survey done to count all the people that live in a country/

3.1.8 The total number of live birth per 1000 people of the populatior{

8]

3.2 Refer to SOURCE 3.2 in the annexure which illustrates the hydrological cycle. Replace the letters A to

G in the statements below with the correct geographical terms.

3.2.1 Ais the largest reservoir of water on earth.

3.2.2 B is the process whereby water changes to water vapour.

3.2.3 Cis the process whereby water vapour changes to water.

3.2.4 D is any form of moisture released from the atmosphere to the earth’s surface.
3.2.5 E is water that flows on the earth’s surface after it has rained.

3.2.6 F is the process whereby moisture is released from plants into the atmosphere.

3.2.7 G is the process whereby water reaches the groundwater.

3.3 Refer to the cartoon (FIGURE 3.3) in the annexure and answer the questions below.

3.3.1 Define the term ‘rural - urban migration’.

3.3.2 Does the cartoon (figure 3.3) in the annexure depict push or pull factors? Give a reason for your

answer.
3.3.3 Explain two consequences that this movement will have on the rural areas.

3.3.4 State three challenges experienced by a city as a result of people moving there.

3.3.5 Discuss three solutions that can be used to reduce the number of people who leave the rural areas.

[7]
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3.4 Refer to the case study (FIGURE 3.4) in the annexure and answer the questions based on it.

3.4.1 Define the term ‘flooding’. 2)
3.4.2 What physical phenomenon caused the 2011 flooding? (2)
3.4.3 According to the report in the case study, about 20 000 people needed emergency relief. What do you
understand by the concept ‘emergency relief”? (2)
3.4.4 Explain the impact that the flooding had on the farmers living in the area. 4)

3.4.5 The South African government admitted that it could have done more to prepare for the floods. Write a

paragraph of approximately 8 lines, suggest measures that the government could have taken to reduce the

effects of flooding. (8)
[18]

3.5 Refer to the information on HIV/AIDS in South Africa in FIGURE 3.5 in the annexure and answer
the questions below.

3.5.1 Define the term death rate. (2)
3.5.2 Give a possible reason for the trend in the child mortality rate between 2000 and 2010. 2)
3.5.3 Give two reasons why South Africa has such a high level of HIV/AIDS - related deaths. 4)
3.5.4 Discuss two measures that can be put in place to reduce HIV/AIDS - related deaths in South Africa. 4)

[12]

3.6 Refer to FIGURE 3.6 in the annexure and answer the questions that follow.

3.6.1 What does exploitation of fish stocks mean? 2)

3.6.2 Describe one of the problems associated with fish losses. (2)
3.6.3 Suggest three ways in which the fishing industry can be regulated so that it becomes and remains

sustainable. (6)

[10]

SUB-TOTAL: 75



il QU’ESTION 4:

W 1)

o

4. aillz AN ig%gﬂmxure They represent two different
countrles Indicate whlch pyramids A or B. is referred to in each of the descriptions below.

4.2.1 The country with high birth and death rates.
4.2.2 The country showing a slow population growth.
4.2.3 A triangular population pyramid.
4.2.4 The country w1th a high life expectancy.
4.2.5The country with a large number of young people.
4.2.6 The country with a large number of adults.
4.2.7 The country with a high life expectancy for females older than 80 years. [7]

4.2 Read the excerpt in FIGURE ¥.2 in the annexure and answer the following questions.

4.2.1 Explain the meaning of the following terms:

4.2.1.1 Refugee (2)
4.2.1.2 Xenophobia ‘ (@)
4.2.2 Name any one other African country (excluding Zimbabwe) from where South Africa attracts refugees. (2)
4.2.3 Give two reasons why Zimbabweans leave their country. 4)
4.2.4 Explain why many South Africans do not want refugees in the country. 4)
4.2.5 State one positive impact that refugees might have on South Africa. (2)
[16]
4.3 Refer to FIGURE 4.3 in the annexure showing the importance of oceans and answer the questions
below. :
4.3.1 How do ocean currents form? (2)

4.3.2 Explain the wonder of the ocean by discussing:

4.3.2.1 The ocean as a source of moisture. ()
4.3.2.2 The role of the ocean in world trade. ()
4.3.3 Discuss how oceans influence the climate of South Aftrica. (2)

4.3.4 Human activities cause serious marine pollution.
4.3.4.1 Identify two ways in which ships pollute the ocean. )
4.3.4.2 Discuss the negative impact of pollution on the ocean. (2)
[14]



. 4. 4 Refer to FIGURE 4.4 in the annexure that shows the population characteristics of Brazil and answer

the following questions.

4.4.1 Is Brazil a developed or developing country? (2‘)
4.4.2 Give one reason for your answer to QUESTION 4.4.1. 2)
4.4.3 Give two possible reasons for the high birth rate in Brazil. 4)
4.4.4 Discuss the negative impact of a rapid population growth rate on Brazil. @)
4.4.5 Suggest two methods that Brazil can use to reduce the rapid population growth in their country. 4

[16]
4.5 Refer to FIGUREY.5 in the annexure and answer the uestions.

4.5.1 Name the sector that uses the largest volume of water. (2)
4.5.2 Explain why the sector mentioned in question 4.5.1 has such a high demand for water. 4)
4.5.3 State the total percentage increase in the demand for water in the sector mentioned in QUESTION 4.5.1(2)
4.5.4 Why did the demand for water in the mines increase so significantly? 2)
4.5.5 The demand for water for irrigation will continue to grow significantly. Do you agree? Motivate your

answer by giving two reasons. 4)

4.5.6 Write a paragraph of approximately eight lines, discuss government initiatives that can be used to secure
South Africa’s scarce water supply in the future. (8)
[22]
SUB-TOTAL: 75
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FIGURE 1.4

Study the extract before aﬁ_sweringit‘hg quéétiqné that follow. o o
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._ I ~ Ogzone alert -
Scientists at the South Polé have warned that if the ozone layér continues to be eroded at the rate the
" have been recording for the past 20 years, life on Earth will be seriously threatened. Earth’s atmospbere
is made up of gaseous layers. It looks very similar to the rings you see when you cut an onion throug
- the middle. Gravity keeps the.layers in place and, becanse-of gravity, more. than half of the gases are.
-~ found within fivé or six kilometres above séa level. As you move higher and higher into the atmosphete,
“the air gets thinner and it becomes [moré difficik fo breathe. . -~ - Ca
" -more of it forms a layer in the
-/ stratosphere, The-ozone layér is
¥ very important because. it blocks
** the incoming ultra-violet (UV) 1ays
" from thie sun. If ozone did ot filter 3
outt most of the UV-radiatiot; {
nothing could live on out plan
 However, man’s.carele‘ssnes's 18
- causing this layer to become
! o E “ . thinner and develop holes, This is
Ozone occiirs in very srmall amourits An onion cut il half gives usa - bad news for the future of Plane
in the lower atmosphere, but much sood idea offow the lyrs ofhe Bath

The. amoui-of water vapour in the
. atfiospheie varies ‘according to -
| . temperatiire; On a hof, humid day

thére’ may be’ s much as four per:

. cent’water’ vapour in’the air, but it

uSually-contains about one per cent.

- Changes in- the amount of ‘water .
vapour affect the behaviour of the.
atmosphere and therefore influence

_our weather: ~ ' o
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HlV/AIDS IN SOUTH AFRICA

Among the estimated 40 mllllon people with HIV/Aids around the world at the end of
2001, the cast majority, 28 million, lived in sub-Saharan Africa. The virus. has spread
at. suoh a rapid rate in South ‘Africa that the country is home to more HIV~posmve

people than any other nation.

Deaths from HIV/Aids Child mortality .
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RIPPLE EFFECT oF EXPL OlTlNG FISH STOCKS

_Kammlla P/I/ay
‘Marine, biologists. predlct that flsh stocks w1ll be depleted by 2050 upsettmg fhe |

delicate. balance. of the world's oceans. The loss of fish will have a domino effect
(an' _ffect onone level will affect the next level) where other species are affected
for example Whales Wlll have a shodage of food. , - * l

'ThIS is made worse by the mcreasmg death of coral reefs Corals store carbon, and
»thls will have an impact.on the ohmate There isa senous need to investigate other
means of harvesfmg fish. : : _ »
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FIGURE 4.2 :

REFUGEES FLEE SA ATTACKS

John left Zimbabwe hoping for sanctuary in South Africa. Now he fears for his life. ‘I left home to try
and support my family. But it is better to starve at home than to die here’. A mob had attacked him in
Johannesburg. They took all his belongings.

FIGURE 4.3
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